


CuSO, 5H,0

2Cu + 0, === 2CuO
CuO + H,S0, === CuSO, + H,0

CuSO,
FeSO, Fe,(SO,),
Fe2* H,0, Fes*
pH=4.0 Fe3*

Fe(OH),
2Fe?* + 2H* + H,0, === 2Fe%* + 2H,0
Fe3* + 3H,0 === Fe(OH), 1 + 3H*



CuSO, 5H,0

CuSO, 5H,0 === CuSO, 8H,0 + 2H,0
CuSO, 8H,0 === CuSO, H,O + 2H,0
CuSO, H,0 === CusO, +H,0

1 mol CuSO, ;0




50mL pH
10mL

, H,SO,(2mol £ 1), H,0,(3%),
K;[Fe(CN):](0.1mol £ 1), NaOH(2mol L 1)



1 CuSO,5H,0

H,S0,

2.4¢
CuO 30min
CuO
17mL 2mol L 1H,SO,
10min CuO
) CuO
CuO

50mL



CuSO, 3% H,0, 25
Fe2+
Fe?+ 2mol £ 1 NaOH
pPH=4.0 PH
2mol £ 1 H,SO,

3mL



1.2~1.59 CusO, 5H,0
1mg
m, 1mg
CuSO, 5H.,0

543~573K 40min



2

15min

omg




Na,SO,




1

CuSO,

Fe2*

Fe2*

pPH=4.0

H,0,




